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Mr. Schiansky 0N | Geometry

Sequences of Similarity Transformations

1. Asshown in the diagram below, circle 4 has a radius of 3 and circle B has a radius of

5.

Use transformations to explain why circles 4 and B are similar. Are the circles i‘
congruent? Explain your answer. A _
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2. In the diagram below, triangles XYZ and UVZ are drawn such that Zx= #U and

LXZY = LUZV. | 50/7\12 OldA lw( W
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Describe a sequence of transformations that maps AXYZ onto AUVZ. Are the triangles
similar? Explain your answer.
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3. Inthe diagram below, A A'B'C' is the image of A ABC after a transformation. (
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Describe the transformation that was performed. Explain why AA4'B' C'~ AABC.

4. In the diagram below, G¥ is parallel to AT, and IV intersects GT at A. Describe a
sequence of transformations that maps AGI4 onto ATNA . Are the triangle similar?
Explain your answer. Are the triangles congruent? Explain your answer.

! Sam et plation

, e AéIA ohat A U/JH
A o on e oF NI _—élbﬁu‘]
bj A\léx\‘my ACIA I:»j o
S.Gj[i ‘%C\r@r O‘P—@ CQ/))«Q/QCD

,D? B, -qU)@ afe Similar A,b%\ﬂmﬂq%d) |
i UHN) Disee angly Masvle Prducivg
o Similar Teule |
No ey i ok (oo . A bkon doey

ﬂ% RN g-i 2&



- Jr)w Mt Aok s Phe galer o Pdiledon.

5. Describe a gequence of transformation that would map AADE onto AABT. What is
the relatighship between AADE and A ABC? Explain your answer.
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6. Triangle ABC and triangle ADE are graphed on the set of axes below.
Describe a transformation that maps triangle 4BC onto triangle ADE. Explain why
this transformation makes triangle ADE similar to triangle ABC.
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7. Given: AAEC, ADEF, and FELCE

What is a correct sequence of similarity transformations that shows AAZC ~ ADEF?
1) arotation of 180 degrees about point E followed by a horizontal D
translation
)ﬂ) a counterclockwise rotation of 90 degrees about point £ followed c_8
by a horizontal translation

3) arotation of 180 degrees about point £ followed by a @Hh 6 4
—ascale factor of 2 centered at point £ — - dt

O@ a counterelackwise rotation of 90 degrees about point £ followed = 3 E
' by @Hh a scale factor of 2 centered at point £







